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GB/T 8538
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GB 19304
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DB33/ 383-2005

4.1.2.2 30m 50m
4.2
4.2.1
4.3
4.3.1
1
1
= 10
NTU = 3
4.3.2
4.3.2.1
25 1S/cm = 20
mg/L = 0.35
mg/L = 4.0
mg/L = 0.8
mg/L = 0.5
mg/L = 1.8
20paS/cm
4.3.2.2
pH 5.5~8.5
( O, ) mglL = 2.0
mg/L = 0.05
mg/L = 0.2
mg/L = 0.3
mg/L = 0.1
mg/L = 1.0
mg/L = 5.0
mg/L = 0.05
mg/L = 0.05




DB33/ 383-2005

mg/L = 0.01
( ) mg/L = 0.05
mg/L = 0.001
mg/L = 0.01
mg/L = 0.05
S0.~ mg/L = 100
cr mg/L = 100
( F ) mg/L = 1.0
( NO; ) mg/L = 0.005
( NOs ) mg/L = 45
( CN ) mg/L = 0.05
mg/L = 0.3
( ),mg/L = 0.002
,mg/L = 0.02
,mg/L = 0.02
,mg/L = 0.01
,mg/L = 0.07
mg/L = 0.06
,mg/L = 0.1
mg/L = 0.1
,mg/L = 0.04
mg/L = 0.03
mg/L = 0.01
1 2- mg/L = 0.1
1 4- mg/L = 0.3
1 2- ,mg/L = 0.03
1 1- ,mg/L = 0.03
1 1,1- ,mg/L = 2
,mg/L = 0.002
(o Bg/L = 0.1
B Bag/L = 1
4.3.3
4
4
cfu/mL = 50
MPN/100mL = 3
cfu/mL = 10
cfu/mL = 10
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9.3.2
100mm
9.3.3 0
9.4
9.2 9.3

3000mL

12

DB33/ 383-2005

3000mL



DB33/ 383-2005

A
Al
= |10
NTU =13
pH 5.5~8.5
mg/L = | 450
( S04 ) mglL = | 100
mg/L = | 0.002
mg/L =103
( CI ) mglL = | 100
mg/L =103
mg/L =01
mg/L =110
mg/L = |50
( F ) mglL =110
( CN ) mg/L = 0.05
mg/L = 0.05
mg/L = 0.05
mg/L = | 0.001
mg/L =0.01
mg/L = 0.05
mg/L =0.01
mg/L = 0.05
( NO; ) mg/L = |45
mg/L =1 0.06
mg/L = | 0.003
o g/l =0.01
g/l =|5
g/l =1
/100mL =|3
o Bg/L =01
B Bg/L =|1




